Office of the State Comptroller

PAYROLL BULLETIN

Builetin No.

. P-860
Changes in New York State and City
of Yonkers Withholding Taxes Date

June 21, 1995

New York State and City of Yomkers withholding taxes will change effective
in Institution checks dated July 6, 1995 and Administration checks dated July 12,

1995,

The deduction allowance table and the tax charts for New York State and
City of Yonkers Resident have been changed for both single and married taxpayers.

The withholding rate for supplemental wages has been reduced for New York
State to 8.09% and for City of Yonkers Resident to 1.2135%.

Copies of pages from the revised Tax Booklet (WT-100) are attached.

Questions concerning this Bulletin should be directed to the Deduction
Section at (518) 473-1989.

Attachments




New York State

Special Tables for Deduction and Exemption Aliowances

T-12 (7/95)

Applicable to Dollar to Dollar Withhoiding Tables
for New York State, see pages T-15 - T-16

\pplicable to Method Il, Exact Caiculation Method
~ for New York State, see pages T13 - T-14

Compute the total deduction and exemnption allowance to subtract from wages using the tables below.

Table A

Combined Deduction and Exemption Allowance (fuit year)

Using Payroll Type, Marital Status, and the Number of Exemptions, locate the combired deduction and exemption
allowance amount in the chart bejow and subtract that amount from wages before using exact calcuiation method (or
doliar to doliar withholding tables) to determine the amount to be withheld.

(Use tables B and C instead if more than 10 exemptions are claimed.)

Payroll | Marital ‘ Number‘ of Exemptions ]

Type Status 0 1 2 3 4 5 - B 7 8 . S 10
Daily or Single |8 21.75|% 25.80|$ 29.4513 32.30(3 B37.151$ 41.00{$ 44.85/§ 48.701% 52.55!% 56.40|% 60.05
Miscellaneous |Married 23.865 27.50 31.35 35.20 38.05 42.90 46,75 50.60 54.45 58.30 62.15
Weekly Single 108,85 127.90 147.18] 186.40; 185.65 204.80] 22415 243,40, 262.65] 281.800 301.15

Married 118.25; 137.50| 166,75/ 176.00| 195.25| 21450 23378 253.00 272.250 291.50 310.75

Biweekly |Single 217.30; 255.80| 294.30; 332.80| 371.30] 409.80| 448.30] 486.80) 525.301 553.80 602.30
Married 236.50) 275.00] 313.50| 352.00! 390.50F 429.00 467501 506.00 544.50] 583.00| 621.50

Semi- Single 235.40f 277.05, 318.70; 360.35| 402.00 443,65 485.30; 526.95] 588.80] 510.25| 651.80
monthly Married 256,251 297.80! 339.55] 381.20| 4£2.85 464.50| 506.15 547.80[ 589.45| 831,101 672.75
Monthly Single 470.801 554.1G) B637.40! 720.70] 804.00 887.30| ©70.60] 1,0653.90; 1,137.20] 1,220.50; 1,303.80
' Married 512.50| 595.80| 679.10| 762.40! 845.70 828.00/1,012.30| 1,085.60, 1,178.90| 1,262.20) 1,345.50
innual Single 5,650 6,650 7,650 8,650 8,650 10,850[ 11,850 12,650; 13,850 14,850] 15,650

[ Married 6150 7,150 8150/ 9.150| 10,150] 11,150 12,150{ 13,150 14,150| 15,150| 16,150
Table B Table C " Table D |

Adjustment for Difference Between Federal® and
New York Exemption Allowances

Deduction Allowance
Use payroll period and
rmarital status of

Exemption Allowance

Based on a full year

employee

Payroll  Marital Peduction

exemption of $1,000

Multiply the number of
exemptions claimed by

Period Siatus  Amount :
Daily or Single § 2175 applicable amaunt’be!ow
Miscell. Married 23.65 and add to deduction
amount from Table B,
Weekly Single 108.85
Married 118.25 Payroll Vaiue of one
Biweekly Singie 217.30 Period exemption
Married  236.50 Daily/misc. $ 3.85
Semi- Singie | 235.40 Weekly 19.25
monthly  Married 258,25 Biweekly 38.50
Monthly  Single 4706.80 Semimonthly 41.65
Married 512.50 Monthly 83.30
Annual  Single 5,650 Annual " 1,000.00
Married 5,150

For employers who elect to use the federal exemption amgunts*

. in computing wages after exemptions, the foltowing adjustments

correct for the ditference between the federal exemption of
$2,500" and the New York State or New York City exemption of
$1,000 according to the particular payroll period.

To correct for the lower New York State or New York City
exgmption allowances:

Multiply the amount below for one exemption by the number of

exemptions claimed. Add the product to the federally computed |

wages afier exemptions.
Payroli Period

Daily/miscellanecus 3 580
Weekly 28.85
Biweekly 57.70
Semimonthiy i 62.50
Maonthily 128,00
Quarterly 375.00
Semiarnual 750.00
Annual 1,500.00

* The adjustments in this tabie are based on the 1995 federal exemption
amount of §2,500. The federal exemption amount may be adjusted for
inflation as prescribed by the Internal Revenue Code. For an annual
payroll period, the Adjustment for each federa! exemption should be
changed by subtracting $1,600 from the current federal exemption
amount, Other payroll periods should be recalculatad accordingly,

Adjustment for each federal exemption’




Method Il Exact Calculation Method New York State  Single T-13 (7/95)
If the amount of net Table II - A Weekly Payroli 14t the amount of net Table Il - D Monthly Payroll
wages (after subtracting . wages (after sublracting
jeducti deductions and
::e;;:;?é}a{;?l Subtract Mulliply the  Add the result 10 exemptions) is: Subtract Multiply the  Add the result 1o

. Column 3 result by Column 5 amount. L Column 3 resut by Column § amount.
i 1AL But less amount from  Column 4 Withhald the i TAL But less amount from  Column 4 Withhold the

n ! Least than nel wages amount resulting sum. n lieast than nel wages amount resulting sum.

€ | cotumn 1 Colurn 2 | Column 3 Column 4 Column & € | cotumn 1 Column 2 Column 3 Column 4 Column 5

118 0 3 128 3 0 .D485 3 0 1,8 O 3 542 3 & .0455 § 0

2 125 ¥ 183 125 0555 5.69 2 542 782 542 .055B 24.67

3 183 240 183 0655 8.88 3 782 1,042 792 .0BSE 38.50

4 240 1,731 240 0759 12.67 4 1,042 7,800 1,042 0759 54,82

5 1,731 1,923 1,731 0817 125.79 5 7,500 8,333 7,500 0817 545.08

& 1,823 - 2,885 1,823 .0867 141.50 5 8,333 12,500 8,333 .0887 81317

7 2885, ... ... ..., 2,885 08049 224.87 7112800 ... ... ..., 12,500 .0808 874.42 ?[
It the amount of net Table 11 - B Biweekly Payroll if the amount of net Table IT - B Daily Payroll
gagest‘(after szbtracting wages (after subtracting

eductio .
exemptions) is. Subtract Multiply the  Add the result to gfg;c‘;ﬁjfsfjf Subtract Multiply the  Add the rasult to
L Column 3 result by Column 5 amount. L P ' Column 3 result Ty Cofumn 5 amount.
PA Butiess |amount from Column 4 Withhold the AL But less amount from Column 4 Withhoid the

n | Least than net wages amount resulting sum. niteast than net wages amount resulting sum.

€ | column 1 Column 2 Cofumn 3 Coiumn 4 Column 5 € | Column 1 Column 2 Column 3 Cotumn 4 Column & 1

118 ¢ §_ 250 3 0 0485 3 -0 118 ") 25 5 0 .0455 $ 0

2 250 365 250 0585 11.38 2 25 37 25 .DB85 1.14

3 385 481 365 0655 17.77 3 37 48 37 DESS 1,78

4 481 3,462 481 .0759 25.35 4 48 346 48 0758 2.53

5 3,462 3,848 3462 .0817 251,88 5 346 385 346 .0817 25.16 °

2 3,846 5,769 3,848 0887 283.0C 8 388 577 385 .0867 28.30

7 5768 ... ... 5768 .0809 448.73 7 577 . 577 .0809 44.87

Table II - C  Semimonthly Payroli Annual Tax Rate Schedule
If the amount of net y ray If annuat wages (after 5
wages (after subtracting subtracting dedustions Subtract
dedustions and ] a cling decuctions | oiimn 3 Add the result to
exemptions) is: Subtract Multioly the ~ Add the result fo aNa exemplions) are: | amoint from Multiply the  Column 5 amount,

L Column 3 resuit by Cofurnn 6 amount) - | taxable portion  result by The resuiting sum

| 1At But less ameunt from  Column 4 Withhold the i AL Butiess |Of annualized  Column'4 s the annualizes

n | Least than net wages amount resulting sum. 1 Least than | P8Y amount tax.

€ | cotemn 1 Column 2 Column 3 Cotumn 4 Cofumn 5 € column 1 Column 2| Column 3 Colymn 4 Column 5

118 0 § 271 5 0 .0455 5 0 118 0 & 65500 |$ 0 .0455 3 Y

2 271 396 271 0555 12.33 2 6.500 9,500 6,500 0555 296.00

3 386 521 396 .0655 19.25 3 9,500 12,500 9,500 L0655 482.00

4 521 3,750 521 0759 - 27.46 41 12,500 90,000 12,500 .0759 658.00

5 3,750 4,187 3,750 0817 272.54 51 80,000 100,000 80,000 0817 8,541.00

& 4,187 6,250 4,167 0887 306.58 6 | 100,000 150,000 | 100,000 .0887 7,358.00

L7 6,250 .. ... ....... 6,250 .0809 487.21% 71150000 .. ... ... .. 150,000 .C80g 11,693.00

Steps for computing the amount of tax to be withheld:

Step 1

Step 2

&P 3
Step 4

Step 5

if the number of exemptions claimed is ten or fewer, look up the
total exemption and deduction amount in Table A on page T-12,
according to the payroll period and marital status ciaimed, (If there
are morg than 10 exemptions, multiply the number by the exemption
amount in Table C on page T-12 and add it 1o the deduction amount
from Table B.) Subtract the total exemption and deduction amourn
from the wages to get net wages.

For weekiy payroll periods, if the amount of net wages is $600 or
less, you may use the simplified Dellar to Doliar Withhoiding Table
beginning on page T-15 to find the amount to withhoid, Otherwise,
continue with Step 2.

Locate the table on this page for the appropriate payrolf pericd. Find
the fine on which the net wages fali between the amounts in
Columns 1 and 2.

Following across on the line you found in Step 2, subtract the
amount in Column 3 irom the net wages.

Foilowing across the same line, multiply the resuit from Step 3 by
the amount in Cofumn 4.

Following across on the same line, add the resull from Step 4 to the
amount in Column 5. The resuiting sum is the amount to withhoid
from wages.

Example 1: Weekiy payroll, $400 gross wages, single, 3 sxemptions claimed

1. Amount from Tabie A on page T-12 Is $166.40 for sifile, weekiy payroll,
3 exemptions. 5400 wages - $186.40 = $233.50 net wages.

2. Use Tabig /1 + A above tor single, weekly payroll. Look up $233.60 and
use line 3 on which $233.80 is greater than Column 1 ($183) bul iess

than Column 2 {$240).

g

. $233.60 - $183 {from Column 3, line 3) = $50.60.
- 350.60 x 0655 (from Cofumn 4, line 3) = $3.31.
- $3.31 + $B.88 {from Column 3, line 3) = $12.19. Withhold this amount.

Example 2: Semimonthiy payroil, $5,000 gross wages, single, 1 exemption ciaimed

1. Amount from Table A on page T-12 is $277.05 for single, semimonthly
payroll, 1 exemption, $5,000 wages — $277.0% = $4,722.95 nat wages.

2. Use Table I - C above ior single, semimonthly payrot. Look up
$4,722,85 and use line 6§ on which $4,722.85 is greater than Column 1
(84,167) but less than Column 2 (36,250.00).

(S A ]

amount.

. 54,722.95 - 34,187 {from Column 3, line ) = $555.95,
. $555.85 x .0867 (from Column 4, fine ) = $48.20.
. 348.20 + $306.58 {from Column 5, line B} = $354.78, Withhold this



T-14 {7195) New York State Married Method 1l Exact Calculation Method
r—

if the ameunt of net Table IT - A Weekly Payroll I the amount of nat Table Il - D Monthly Payroll
Bedustors ang oS Sotaions ang e
L pemptens) s Colmna  fek oy Cotumn £ amoups, |, |SePtOnS) IS Coumna  esny - Coumn 5 amosnt
i At But iess amount from  Column 4 Withhold the ilat But less amount from  Column 4 Withhold the
n | Least than net wages amount resuiting sum. n | Least than net wages amoun! resulting sum.
€ | Column 1 Column 2 Column 3 Column £ Column & € | Coemn 1 Column 2 Column 3 Column 4 Cofumn 5
118 0 § 125 $ a .0455 $ ¢ 118 o $ 542 g 0 .0455 $ 0
2 125 183 125 0555 5.69 2 542 792 542 0555 24.67
3 183 240 183 .0655 8.88 3 792 1.042 782 0B85 38.50
4 240 1.731 240 0758 12.67 4 1,042 7.500 1,042 0759 54.92
5 1,731 1,823 1,731 0817 125.78 5 7.500 8,333 7.500 .0817 545.08
8 1,823 2,885 1,823 oes7 141.50 8§ 8.333 12,500 8,333 .0867 §13.17
7 2885, ... ... .. 2,885 0803 224.87 T3 12500 .. ... [ 12,500 .0808 974.42
i the amount of net Table I - B Biweekly Payroll If the amount of net "Table {I - £ Daily Payrall
cesoctons and et vl
et s S, Maipybe psbe e || Jeemptonsi s Sea Muipne Addne i
i | A But less amount from  Column 4 Withhold the i 1At But less | amount from Column 4 Withhold the
n | Least than netl wages amount resulting sum. i {Leas than net wages amount resuiting sum.
€ [ Cowmn 1 Column 2 Column 3 Coiump 4 Column 5 € | Column 1 Caiumn 2 Column 3 Cojurmn ¢ Column 5
E 0 & 250 g 9] 0455 3 0 11§ 4] S 25 $ 0 .0455 $ 0
2 280 365 250 .0555 11.38 2 25 37 25 0555 1.14
3 385 481 385 .0855 17.77 3 37 48 37 .0855 1.78
4 481 3,462 481 0758 25.35 4 48 348 48 0758 2.53
5 3,462 3.846 3,462 .0817 251.58 5 348 385 346 0817 25.18
5 3,846 5769 3,845 0887 283.00 | g 385 577 385 .0867 . 28.30
7 5768 .. .. ... .. .. 5,788 0808 448,73 Iz 577 ... [ 577 .0809 44.97 i
if the amount of net Table Il - C  Semimonthly Payroli If annual wages (after Annual Tax Rate Scheduie
Gedunions and sublracting deductons | X 3 AdG the result 0
exempticns) is: Subtract Multiply the  Add the result to and exemptions) are: | -t from Multiply the  Column & amount.
L Column 3 resuit by Colymn 5 amount. i laxabie portion resull by The resuiting sum
i 1AL But less amount from  Column 4 Withhold the i 1AL But fess | of annualized Colump 4 is the annualized
n | Least than net wages amount resulling sum. n | Least than | pay amount tax.
€ | Column 1 Column 2 Column 3 Column 4 Column 5 € | Cotumn 1 Column 2 | Column 3 Cofumn 4 Column 5
118 D § 271 $ 0 0455 % 0 118 9] & 6500 |8 5] .0455 3 0
2 271 398 271 0555 12.33 2 5,500 9,500 6,500 0555 296.00
3 396 521 396 06585 19.25 3 8.500 12,500 8,500 0655 462.00
4 521 3,750 521 0759 27.48 4| 12,500 90,000 12,500 .0759 655.00
5 3,750 4,167 3,750 .0817 272.54 51 80,000 100,000 90,000 0817 8,541.00
8 4,167 6,250 4,167 0887 308.58 6 1 100,000 150,000 | 100,000 .0887 7,358.00
7 6250 ... ....... 8,250 0808 487.24 71150,00C ... ... .. 150,000 .0809 11,683.00
Steps for computing the amount of tax to be withheld: Example 1:Weekly payroil, $400 gross wages, married, 4 sxemptions claimed
Step 1 If the number of exemptions claimed is ten or fewer, lok up the 1. Amount from Table A on page T-12 is $185.25 for marriad, \'.veekly

total exemplion and deduction amount in Table A on page T-12,

o or a1 e e A CaiTind- T1here | 2 Use Tabie 11 - & above for married, weskly payroll. Look up $204.75 and

exemption amount in Table C on page T-12 and add it 1o the use fine 3 on which $204.75 is greater than Column 1 {$183) but Jess
deduction amount from Table 8.) Subtract the total exemption and than Colurmt 2 ($240). ] i
deduction amount from the wages to ge! net wages, $204.75 - $183 (from Column 3, line 3) = $21.75.
For weekly payroll periods, if the amount of net wages is $600 or - $21.75 » 0BS5S (from Coiumn 4, line 3) = §1.42. )
less, you may use the simpiified Doflar to Doliar Withhoiding Tabie . $1.42 + $8.88 {from Cotumn 5, line 3} = $10.30. Withhold this amount.
beginning an page T-15 to find the amount to withhold. Otherwise,
continue with Step 2.

*p 2 Locate the table on this page for the appropriate payroli period.

payroll, 4 exemptions. $400 wages - $195.25 = $204.75 net wages.

Ulnh_(d

Example 2: Semimonthly payrof, $5.000 gross wages, married, 3 exemptions claimed

Find the fine on which the net wages fali between the amounts in 1. Amount from Table A on page T-12 is $381.20 for married; semimonthly
Columns 1 and 2. payroll, 3 exemptions. 5,000 wages - $381.20 = $4,618.80 net wages.
Step 3 Following across on the fine you found in Step 2. subltract the 2. Use Table If - C above for married, semimonthly payroll. Look up

amount in Column 3 from the net wages. $4,618.80 and use line § on which $4,518.80 is greater than Column 7
Step 4 Following across the same line, multiply the result from Step 3 by (84,167} but iess than Column 2 ($5,250).

. 54,618.80 ~ $4,167 (from Coiumn 3, line 6) = $451.80.

Step 5 Following across on the same line, add the resull from Step 4 10 - 8451.80 x .0867 {from Column 4, line 6) = $39.17. ‘ _
the amount in Colurnn 5. The resulling sum is the amount 1o . $38.17 + $306.58 (from Column 5, line 8) = $345.75. Withhold this

withhoid from wages. amount.

the amount in Column 4.

bW




T-38 (7/95) -

City of New York

Special Tables for Deduction and Exemption Aliowances

Appiicable 1o Method I, Exact Caiculation Method
for the city of New York, see pages T-39 - T-40

Compute the tolal deduction and exemption allowance to subtract from wages using the tables below.
¥

Applicable to Dollar to Dollar Withholding Tables
far the city of New York, see pages T-41 - T-44

Table A

Combined Deduction and Exemption Allowance (full year)
Using Payroll Typé, Marital Status, and the Number of Exem

allowance amount in the chart below and subtract that amount from wages before using exact calculation method (or
dolar to doilar withhoiding tables) to determine the amount to be withheld.

ptions, locate the combined deduction and exemption

{(Use tabies B and C instead if more than 10 exemptions are ciaimed.)

Payroll Marital Number of Exemptions ?
Type Status 0 1 2 3 4 5 8 7 8 g 10
Daily or Single $ 19.25|% 23.10i$ 26.95|% 30.80|% 34.65|3 38.50|% 42.35|% 46.20!% 50.05/% 52.80{% 57.75
Miscellaneous (Married 21.15 25.00 28.85 32.70 36.55 40.40 44.25 48.10 51.95 55.80 59.85
Weekiy Single 96.15] 11540 13465 153.80! 173.15 182,40 211.65), 230.90; 250.15; 28840 288.6%

Married 105.75 125.00] 144.25 163.50: 182.75 202,00 221.25] 240.50| 259.75: 279.00| 298.25

Biweekly |Single 182.30| 230.80] 269.30{ 307.80| 346.30) 384.80] 423.30] 461.80| 500.30| 538.80] 577.30

Married 211.50, 250.00f 28850| 327.00; 236550| 404.00F 442.50| 481.00] 518.50! 558.00! 59650

Semi- Single 208.35, 250.00[ 291.85| 333.00f 374.85] 41B.60| 458.25| 489.90] 541.55| 583.20] 8624.85

monthly Married 229.15] 270.80) 312.45| 354.10| 39575 437407 479.05] 52070, 562.35! 504.00, 645.65

Monthly Single 416.70] 500.00] 583.30( 666.80! 749.80 833.20! 918.50, 999.80! 1,083.10; 1,166.40! 1,249.70

Married 458.30. 541.60| 624.90| 708.20| 791.50 874.801 958.10] 1,041.40! 1,124.70! 1,208.60; 1,291.30

nnual Single 5,000 6,000 7,000 8,000 8,000 10,000 11,0007 12,000] 13,000 14,000 15,000

[ iarried 5,50G0 8,500 7,500 8,500 8.500] 10,5000 11,5001 12,500] 13,5000 14,500 15,500
Table B Table C Table D

Deduction Allowance
Use payroll period and
marital status of

Exemption Allowance

Based on a full year
exemption of $1,000

employee
Payroll  Marital Deduction Multzp%y the number of
Period Status  Amount exemptions claimed by
Daily or Single  § 1928 applicable amount.beicw
Misceil. Married 21.15 and acd to deduction
amount from Table B,
Weekly Single 86.15
Married 105.75 Payroll Vaiue of one
Biweekly Single 192.30 Period exemption
Married  211.50 Daily/misc. $ 385
Semi-  Single 208.35 Weekly 19.25 ¢
monthly  Married 229,15 Biweekly 38.50
Monthly  Single 416.70 Semimonthly 41.65
Married 458.30 Monthly 83.30
Annual  Single 5,00C Annual 1,000,00
Married 5,500

Adjustment for Difference Between Federal® and New York
Exemption Allowances

For empioyers who elect to use the federal exemption amounts™ in
computing wages after exemptions, the following adjustments correct
for the difference between the federal exemption of $2,500° and the
New York State or New York City exemption of $1,000 accorging to
the particular payroll period.

To correct for the lower New York State or New York City exemption
allowances:

Multiply the amount below for cne exemption by the number of
exemptions claimed. Add the progduct to the federally computed

‘wages alter exemptions.

Payroli Period

Adjustment for each federal exemption

Daily/misceliangous $ 5.80
Weekly 28.85
Biweekfy 57.70
Semimonthly i 62.50
Monthly 125.00
Quarterly 375.00
Semiannual 750.00
Annual 1,500.00

* The adjustments in this table are based on the 1995 federal exemption
amount of $2,500. The federal exemption amount may be adjusted for
inflation as prescribed by the Internal Revenue Code. For an annual
payrofl pericd, the Adjustment for each federal exemption should be
changed by subtracting $1,000 from the current federal exemption
armount. Other payroll periods should be recalculated accordingly.




Method I Exact Calculation Method City of New York Single T-39 (7/95)

1 the amount of nat Table IT - A Weekiy Payroll I the amount of net Tabie I1 - D Monthly Payroll
wages (after subtracting wages (after subtracting
deducti d deductions and .
exemations) le- Subtract Multiply the  Add the resuil to exemptions) ie: Subtract Multioly the  Add the result 1o
Column 3 result by Column 5 amount. L Column 3 resuit by Column 5 amount.
At But less amount from  Column 4 Withhoid the i 1At Bul fess amount fram  Column 4 Withhoid the
n | Least than nel wages amount resufting sum. n | Least than net wages amount resuiting sum.
€ | Column 1 Column 2 Column 3 Cotumn & Column 5 € I Column 1 Colymn 2 Column 3 Column 4 Column 5
18 0 & 154 3 0 022 $ 0 1]8 c $ 687 |3 0 022 3 0
2 154 ¢ 487 154 .0308 3.38 2] 867 725 667 0308 14.67 :!
E[ 3 1867 2B8 167 0363 3.81 3 725 1,250 725 .0363 16.50
{Lct 1 288 481 288 .0435 8.19 4 1,250 2,083 1,250 0435 35.50
r 5 [ 481 1,154 481 .0457 16.56 5 2,083 5,000 2,083 0457 71.75
6] 11sa. T 1,154 0468 47.33 6] 5000 . ........ ... 5.000 0468 20508 |
. ! .
if the amount af net Table I - B Biweekly Payroll if the amount of net Table I - E  Daily Payroll
wages (after subtracting wages {after subtracting
deductions and deducti and
efe,‘j,i,éf;?,sﬁr;; Subtract Multiply the  Add the result 1o exe;c;:faoe:]ss) ’r; Subtract Multipy the  Add the rasult 1o
L Column 3 result by Columa 5 amount. L Cofumn 3 result by Column 3 amount.
PIAL But less amount from  Column 4 Withhold the P lAt But less amount from  Cofumn 4 Withhold the
n | Least than net wages amount resufting sum, n | Least than net wages amount rasufting sum,
€ | Column 1 Cofumn 2 Column 3 _ Column 4 Column 5 & | Cowumn 1 Cofumn 2 Column 3 Colymn 4 Cotumn 5
118 C 3 308 3 0 .022 3 0 108 0 $ 31.00 3 0 022 3 G
2 208 335 308 .0308 6.77 2 31.00 33.50 31.00 0308 68
3 335 577 338 .0383 7.62 3 33.50 57.50 ! 33.50 383 .76
4 577 962 577 0435 16.38 4 57.50 96.00 57.50 0435 1.63
5 982 2,308 962 0457 33.12 5 96.00 231.00 96.00 0457 3.30
ls| 2808.. . .. 2,308 0468 94.65 8123100 ......... ... | 231.00 0468 5.47
. [
if the amount of net Table 11 - C  Semimonthly Payroll It annual wages (after Annual Tax Rate Schedule
wages (afler subtracting subtracting deductions | Subtract
deductions and . and exemptions) are: Coiumn 3 Add the result to
exemptians} is: Subtract Multiply the  Add the result 1o amount from  Multiply the  Column 5 amount.
‘ Cotumn 3 result by Calumn 5 amount, L taxable portion result by The resulting sum
i lat But less  |amount frem  Column 4 Withhold the i{Al Bulless | of annuaized  Column < is the annualized
n | Least than | nel wages amount resufting sum. n | beast than | pay amount tax.
i € [Column 1 Column 2 Coiumn 3 Coturmn 4 Column § e Column 1 GCotumn 2 [Column 3 Column 4 Cotumn §
l11s 0 $ 1333 s 0 022 3 0 lE O % B000 |s o 022 3 0
J 2 333 383 333 0308 7.33 [2 8,000 8,700 8,000 .0308 176.00 _
3 3683 625 383 0363 8.25 3 8,700 15,000 8,700 0363 198.00
4 625 1,042 625 0435 17.75 41 15000 25,000 15,000 .0435 426.00
11_5 1,042 2.500 1,042 .0457 35.88 51 25000 80,000 25,000 0457 881.00
5] eso0 . 2500 0468 102.54 6] 80000.. .. . ... | 60,000 0458 2,461.00

Steps for computing the amount of tax to he withheld:

Step 1 if the number of exemptions claimed is ten or fewer, look up the
total exemption and deduction amount in Table A on page T-38,
according to the payroll period and marital status claimed. (I there

are more than 10 exemptions, muitiply the number by the
exemplion amount in Tadle C on page T-38 zand add it to the

deduction amount from Table B.) Subtract the tatal exemption and

deduction amount from the wages to get net wages,

For weekly payroli periods, if the amount of net wages is 51,200 or
less, you may use the simplified Dollar to Doliar Withholding Table
beginning on page T-42 1o find the amount to withhoid. Otherwise,

continue with Step 2.

Step 2 Locate the table on this page for the appropriate payrofl period,
Find the line on which the net wages fall between the amounts in

Columns 1 ang 2.

Step 3 Following across on the line you found in Step 2, subtract the
amount in Column 3 from the nel wages.

the ameunt in Column 4.

"wép 5 Following across on the same line, add the result from Step 4 to

the amount in Cojlumn 5. The resulting sum is the amount to
withhold from wages.

Exampie 1: Weekly payroll, 3400 gross wages, single, 3 exemptions claimed
1. Amount from Table A on page T-38 is $153.80 for single, weekly payroli,
3 exemptions. $400 wages - $153.90 = 5246.10 net wages.

2. Use Table I - A above for singie, weekly payroll. Look up $248.10 and
use fine 3 on which $245.10 is greater than Column 1 (S187) but less L
than Coiumn 2 ($288).

3. $248.10 - 3167 (from Column 3, line 3) = §79.10. .
4. 379.10 x 0362 {rom Column 4, king 3) = $2.87. W
5. 82.87 + $3.81 (from Column 5, line 3) = $6.68. Withhold this amount,

4 Foliowing across the same line, muitiply the resuit from Step 3 by

Example 2: Semimonthly payrolt, $2,000 gross wages. single, 1 exemption claimed
1. Amount from Tabie A on page T-38 Is $250 for singie, semimonthiy
payroll, 1 exemption. $2,000 wages - 5250 = $1.750 ne! wages.

2. Use Table 11 - € above for single, semimonthly payroll. Look up 81,750
and use line 5 on whick $1,750 is greater than Column 1 {$1,042) but
less than Cofumn 2 (52,.500).

3. 81,750 -~ $1,042 {from Column 3. fine 5} = $708.
4, 8708 x 0457 {from Column 4, line 5} = %32.36.

5. 832.36 + $35.88 (from Colurmn 5. line 5} = $58.24. Withhoid this
amount,



T-40 (7/95) - .

City of New York

Married

Method il

Exact Calculation Method

if the amount of net
wages {after subtracting
deductions and

Table I - A Weekly Payroll

i the amount of nst
wages (after sublracting
deductions and

Table 11 - D Monthly Payrol

exemplians} is Bt ey Courmn 5 amoum| || SETRIOnS B fesul by Column 5 amount
Tlat But tess  |[amount from  Column 4 Withhold the i A But less amournt from Column 4 Withhold the
n | Least than net wages amount resulting sum. n | Least than  |net wages amount resuiting sum.
€ | Coiumn 1 Column 2 Column 3 Column 4 Column & & | Column 1 Column 2 | Colump 3 Column 4 Column &
118 0 3¢ 154 § g .022 $ 0 118 0 $ 687 3 0 .022 § 0
2 154 167 154 0308 3.38 2 667 725 857 .0308 14.67
3 167 288 167 0363 3.81 3 725 1,250 725 0363 16.50
4 288 481 288 .0435 8.18 4 1,250 2,083 1,250 0435 35.50
5 481 1,154 481 .0457 16.56 5 2,083 5,000 2,083 (0457 71.75
6 1,154 .. ... 1.154 .0468 47.33 ) 5000 ... ... 5,000 0468 205.08

If the amourt of net Tabie 11 - B Biweekly Payroll

If the amoun! of net Tabie I1 - E  Daily Payrofi

wages (after subtracting

wages (after subtracting
deductions and

deductions and

exemptions) is: Subtract Multiply the  Add the result to exemptions) is: Subtract Multiply the  Add the result to
L Column 3 result by Column 5 amount. L Column 3 result by Column 5 amount,
i At But less amount from  Column 4 Withhold the i 1AL But less amount from Colurnn 4 Withhold the
n | Least than net wages amount resuliing sum. n | Least than net wages amount resulting sum.
€ | Cotumn 1 Colymea 2 Column 3 Column 4 Cotumn § € | Column 1 Cotumn 2 Column 3 Column 4 Column 5
118 0 § 308 & 0 022 $ 0 1% 0 § 31.60 $ 0 .02z g g
2 308 335 308 .0308 8.77 2 31.00 33.50 31.00 0308 68
3 335 577 335 0383 7.62 3 33.50 57.50 33.50 0363 76
4 577 962 577 0435 16.38 4 57,50 86.00 57.50 0435 1,83
5 962 2,308 882 0457 33.12 5 96.00 231.00 96.00 0457 3.30
6 230B.... ........ 2,308 0468 94.65 81 23100 .......... L. 231.00 0468 9.47

T

If the amount of net

Table Il - C Semimonthiy Payroll

i annual wages (after

Annual Tax Rate Schedule

wages (after subtracting subtracting deductions | Sublract

deductions and ‘ and exemptions) are: Coiumn 3 Add the result 1o
- | exemptions} is: Subtract Multipiy the  Add the resuft to amount from Multiply the  Cofumn 5 amount.
L Column 2 result by Cafump 5 amount| | L taxable portion  resull by The resulting sum
- Butless lamount from Coiumn 4 Withhold the i (A Butless |of annualized  Column 4 is the annuglized
n | Least than | nel wages amount resulting sum. n | Least than  |pay amount tax.
€ | Column i Column 2 Column 3 Coiumn 4 Cotumn 5 € Column 1 Column 2 1 Column 3 Column 4 Coiumn 5
1% 4 $ 333 3 Y .022 $ 0 1.3 0 $ B800C % 0 022 3 Y
2 333 362 333 0308 7.33 2 8,000 8,700 8,000 0308 176.00
3 383 625 363 0363 8.25 3 8,700 15,000 8,700 0383 198.00
4 625 1,042 6525 0435 17.75 41 15,000 25,000 15,000 .0435 426.00
5 1,042 2,500 1,042 0457 35.88 5 25,000 69,000 25,000 0457 861.00
[ 2800 ..., .. 2,500 0468 102.54 61 BOOOO............ 60,000 0488 2,461.00

Steps for computing the amount of tax to be withheld:

Step 1

If the number of exemptions claimed is ten or fewer, fook up the

total exemption and geduction amaount in Table A on page 7-38,
according to the payroll period and marital status claimed. (if there
are more than 10 exemptions, multiply the number by the
exemption amount in Table C on page T-38 and add it to the
deduction amount from Table B.) Subtract the iotal exemption and
deduction amount from the wages {0 gel net wages.

Example 1: Weekly payrofl, $500 gross wages, matried, 3 exemptions claimed

Amount from Tabie A on page T-38 is $163.50 for married, weekly

payroll, 3 exemptions, $50C wages - $163.50 = $336.50 net wages.

Use Table I - A above for married, weekly payroll. Look up $336.50 and
use fine 4 on which $336.50 is greater than Column 1 ($288) but less N
than Column 2 {3481).

1.

2.

In

. $336.50 - $288 (from Column 3, line 4) = $48.50,
. $48.50 x .0435 {from Column 4, fine 4) = §2.11.

For weekly payroli periods, if the amount of net wages is $1,200 or
less, you may use the simplified Doilar to Dolfar Withholding Table
beginning on page T-42 1o find the amount 1o withhold. Otherwise,
continue with Step 2.

t.ocate the table on this page for the appropriate payroll period.
Find the line on which the net wages fali between the amounis in
Celumns 1 and 2.

Step 2

Step 3 Following zcress on the line you found in Step 2, subtract the

amnount in Colurnnt 3 from the net wages.
Step 4 Foliowing across the same line, multiply the result from Step 3 by
the amount in Cofumn 4.

Step 5 Foliowing acress on the same fine, add the result from Srep 4 10
the amount in Coiumn 5. The resulting sum is the amount 1o

withhold from wages.

5. 82.11 + $8.19 (from Column 8, line 4) = §10.30. Withhold this amount.

Example 2: Semimonthly payroll, $2,000 gross wages, married, 1 éxemption claimed
1. Amount from Table A on page T-38 is $270.80 for married, semimonthly
payroll, 1 exemption. $2,000 wages - $270.80 = §1,728.20 nel wages.

2. Use Table II - C above for married, semimonthly payroll. Look up
$1,729.20 and use line 5 on which $1,723.20 is greater than Cojumn 1
$1,042) but less than Column 2 ($2,500).

3. $1,728.20 ~ $1,042 (from Column 3, iing 5)

4. $687.20 x .0457 (from Column 4, fine 3}

5. 831.41 + $35.88 {irom Column 5, line §)
amount.

= $687.2C.
$31.41.
$67.29. Withhoid this

1l



Methed VI

This method is for employees residing cutside New York City who earn wages in New York City paid by an employer maintaining

City of New York - Nonresident Earnings Tax

Exact Calculation Method

office or transacting business within New York State.

| s method applies the tax rate of 0.45% (.0045) to the wages remaining after the allowed exclusnon is subtracted. It includes

a provision for ne withholding if wages are less than an indicated amount.

Tablg I - A Weekly Payroll

if wages are: The
Line At But tess exemption
number least than amount is
Cotumn 1 Colurmn 2 Colurmn 3

No tax
1 g0 578 withheid

2 78 192 $ 58

3 182 385 38

4 385 577 14

5 577 ... 0

Table II - B Biweekly Payroll

If wages are: The
Line At But less exemption
number least than amount is
Colurnn 1 Cotumn 2 Column 3
Mo tax
1 5 0 $145 withheld
2 145 385 $115
3 385 768 77
4 769 1,154 38
[ 5 154 .. L. 0
Table II - C Semimonthly Payroll
If wages are: The
Line At But less exemption
number least than amount is
Column 1 Column 2 Column 3
No tax
1 § 0 $ 155 withheid
2 155 417 $125
3 417 833 83
4 833 1,250 42
5 1,250, ... G
Example 1: Example 2:

Weekly payroll, $75 gross wages

Step 1

Use Table [I-A for weekly

payroll, Wages of §75 are
found on line 1, since $75 is at
least 3C and less than $78. No
tax is to De withheld from
these wages.

Step 1

Step 2
Step 3

T-47 (7/95)

Table I¥ - D Monthiy Payroll |

i wages are: The

Ling At But less exemplion

number least than amount is

Cotumn 1 Column 2 Column 3
No tax

1 £ 0 $ 280 withheld
2 280 833 $ 250
3 833 1,667 167
4 1,667 2,500 a3
5 2500, ... ... y G

Table I - E Daily Payroll

If wages are: The
Line At But less exemption
number least than amburnt is
Column 1 Column 2 Calumn 3
No tax
1 30 § 22 withheld
b ee 38 §12
3 38 77 B
4 77 115 4
5 Ms o C

Steps for computing the amount of nonresident
earnings tax to be withheld:

Step 1

Step 2

Step 3

Find the proper table in the Table II series above, according
1o the payroll period. Fing the line on which the amount of
gross wages is equai to at least Cofurnn 1 and less than

Colurnn 2.

If the wages are found on line 1, there is no withholding (no
further steps are needed).

Subtract the Cofumn 3 exemption amount on the ine found
in Step 7 from the gross wages.

Multiply the result of Step 2 by 0.45% (.0045). *The product is
the amount of tax to withhold each pay period.

Weekly payroll, $200 gross wages

Use Table II-A for weekly
payroll, Use line 3 {§200 is at
least $182 and less than $385).
3200 - $38 (exemption} =

3162 x .0045 =
Withheld this amount.

5162
50.73

Step 1

Step 2
Step 3

Example 3:

Semimonthly payroll, $400 gross wages

Use Table 11-C for
semimonthly payroll. Use ling 2
($400 Is at least $155 and iess
than $417).

$400 - $125 (exemption)

$275 x 0045 = $1.24
Withhold this amount.

= $275



T-60 (7/95)

City of Yonkers

Special Tables for Deduction and Exemption Allowances

Applicable to Method H, Exact Calculation Method
for the city of Yonkers, see pages T-61- T-62

Applicable to Dollar to Dollar Withholding Tables
for the city of Yonkers, see pagas T-63 - T54

' Compute the total deduction and exemption allowance fo subtract from wages using the tables beiow.

Table A !

Combined Deduction and Exemption Allowance (full year)

Using Payrof!'?}fp’e, Marital Status, and the Number of Exemptions, locate the combined deduction and exemption
aliowance amount in the chart below and subtract that amount from wages before using exact calculation method
dollar to dollar withholding tables) to determine the amount to be withheld.

{Use tables B and C instead if more than 10 exemptions are ciaimed.)

{or

Payroll Marital Number of Exemptions
Type Status 0 1 2 3 4 5 6 7 8 8 10
Daily or Single |8 21.75|$ 25.60|% 29458 233.30/$ 87.15{3 41.00)$ 4485!% 48703 52.55|$ 5640|% 60.25
Miscellaneous [Married 23.65 27.50 31.35 35.20 38.05 42.90 48.75 50.60 54.45 58.30 62.15
Weekly Single 108.85] 127.801 147.151 166.40: 185.65| 204.90) 224.15| 243.40| 262.65| 281.90| 301.15
Married 118.25] 137.50| 156.75| 176.001 1985.25| 214.50| 233.75| 253,00 27225 29150 310.75
Biweekly |Single 217.30, 255.80; 294.30] 332.80| 371.30] 409.80| 448.30| 486.80] 525.30! 583.80] 502.30
Married 236.50] 275.00f 313.50! 352.00| 390.50| 429.00] 467.50] 505.00/ 544.50! 583.00] 621.50
Semi- Single 235.4G) 277.05, 318.70] 360.35, 40200} 443.65 485.30| 526.95 S568.60! 61025 651.90
monthiy Married 256.25] 297.80] 339.55| 381.20! 422.85| 464.50] 506,15 547.80] 5B9.45 631.10| 8£72.75
Monthiy Single 470.80) 554.10] 637.40) 720.70| 804.00; 887.30] 970.60| 1,053.90| 1,137.20| 1,220.50; 1.303.80
Married 512.50: 595.80] §79.10] 762.40| 84570 929.00/1,012.30! 1,095.60! 1,178.90| 1,262.20| 1,345.50
nual Single 5,650 6,650 7.850 8,650 56501 10.,650{ 11,850C| 12,6500 13,850! 14,850 15,850
Married 8,150 7,150 8,150 9.150; 10,150] 111801 121501 13,150 14,150| 15,150 16,150
Table B Table C Table D

Deduction Allowance
Use payroll pericd and
marital status of

Exemption Allowance

Based on a full year
exemption of $1,000

employee
Payroll Marital Deduction Multiply. the number of
Period  Status Amount exerg\p’ncns claimed by
Daily or _Single & 21.75 applicable amount.below
Miscell.  Married 23.65 and add to deduction
. amount from Table B.

Weekly Single 108.65 ’

Married 118.25 Payrol Value of one
Biweekly Single 217.30 Period exemption

Married 236.50 Daily/misc. & 3.85
Semi- Singte 235.40 Weekly 18.25
monthiy  Married 256.25 Biweekly 38.50
Monthly  Singte 470.80 Semimonthly 41.65

Married 512.50 Monthly 83.30
Annual  Single 5,650 Annual 1,000.00

Married 6,150

Adjustment for Difference Between Federal* and
New York Exemption Allowances

For employers who elect to use the federal exemption amounts®
in computing wages after exemptions, the following adjustments
correct for the difference beiween the federal exemption of
$2,500* &nc the New York State or New Yark City exemption of
$1,000 according to the particular payrolt period.

To correct for the lower New York State or New York City
exemption allowances:

Multiply the amount below for one exemption by the number of
exemplions claimed. Add the product to the fedgerally
computed wages aiter exemptions.

Payroll Period Adjustment for each federal exemption

Daily/miscellaneous “-‘ § 580
Weekly 28.85
Biweskiy 57.70
Semimonthily 82,50
Monthly 125.00
Quarterly 375.00
Semiannual 750.00
Annual 1,500.00

" The adjustments in this table are based on the 1895 lederal exemption
amount of $2,500. The federal exemption amount may be adjusted for
inflation as presctibed by the internal Revenue Code. For an annual
payroll peried, the Adjustment for each federal exemption should be
changed by subtracting $1,00C from the current federal exemption
amount. Cther payroli periods should be recalculated accordingly.




Method | Exact Calculation Method City of Yonkers Single T-61 (7/95)

If the amaunt of net Table Il - A Weekly Payroll i If the amount of net Table I1 - D Monthly Payroll
& after subtractin ages {after subtractin
‘é“egf;igns and g Add the result to ‘;“ec?uctiﬁms ang g Add the result to
exemptions) is: Subtract Multiply the  Column 5 amount, gxemptions} is: Sublract Multiply the  Cofumn 5 amount.
L # Column 3 result by Muliply by 15% L Cotumn 3 resuit by Muttiply by 15%
At But tess amount from  Column 4 {15}, Withhold the i A But iess amount from  Column 4 {.15}. Withhold the
©. |teast than net wages amount product, n | Least than net wages amount product.
€ | Column 1 Column 2 Column 3 Column 4 Cotumn & € | Column 3 Column 2 Column 3 Cotumn 4 Colurn §
118 0 $ 125 3 0 .0455 $ 0 118 ¢ § b4z b i .0455 $ 0
2 125 . 183 125 .0555 5.88 2 542 792 542 0555 24.67
3 183 240 183 .0655 §.88 3 782 1,042 732 .0655 38.50
4 240 1,731 240 .0759 12.67 4 1,042 7,500 1,042 0759 54.82
5 1,731 1,923 1,731 .0817 125,78 5 7,500 8,333 7,500 .0817 545.08
5] 1,823 2,885 1,923 .0867 141.50 6§ 8,333 12,500 8,333 .0BET 613.17
7 2,885 ... ... ... 2,885 0808 224.87 7012500 ... ... 12,500 0809 974.42
if the amount of net Tabz@ Ii-B Blweek]y Payro!] # the amount of et Tabie I1 - E Daily Payro”
wa fre biractin ;
dquscsﬁgans and ¢ Add the result to gggf;iga;tse;igb"acmg Add the result to
exemptions) is: Subtract Multiply the  Column & amount. exemptions) is: Subtract Muitiply the  Column 5 amount.
L Column 3 resull by Multiply by 15% L ’ Column 3 result by Mutltipty by 15%
i | A But less amount from  Column 4 {.15}. Withhold the i 1AL But less amount from  Column 4 {.15). Withhoid the
n | Least than net wages amount product. niteast than net wages amount product.
€ | Calumn 1 Column 2 Colurnn 3 Column 4 Column & € | Columnn 3 Column 2 Column 3 Colymin 4 Column §
118 0 § 250 $ 0 0485 $ 0 118 g 3 25 3 O 0455 g 4
2 250 365 250 (0555 11.38 2 25 37 25 05585 1.14
3 365 481 365 0855 17.77 3 37 48 37 0855 1.78
4 481 3,452 481 0758 25.35 4 48 346 48 0759 2.53
5 3,482 3,848 3,462 .0817 251.58 5 346 385 346 .0817 25.18
6 3,846 5,769 3,846 .0BBY 283.00 [ 385 5877 385 .0867 28.30
7 5769 .. ......... 5,769 .0808 449.73 7 5877 . 577 0809 44.87
if the amount of net Table I{ - C Semimonthly Payroll It annual wages (after Annual Tax RHate schedute
wages {after subtracting subtracting deductions | SuDtract Add the resuit to
deductions and . Add the resuil to and exempticns) are: Columi 3 Column 5 amount,
exemptions) is: Subtract Multiply the  Cofumn & amount. amount from  Multiply the  Muitiply by 15%
L Column 3 resuft by Multiply by 15% L taxable portion result by {.15). The result is
PlAL But iess amount from  Cofumn 4 {.15}. Withheid the i |Al But less | of annualized Column 4 the annualized
n | Least than net wages amouni product. 1t | Leas! than | pay amount tax,
€ | Column 1 Column 2 Column 3 Coiumn 4 Column § € | Column 1 Column 2| Column 3 Column 4 Cotemn 5
118 G § 271 $ 0 0455 $ 0 118 0 % B500 % 0 .0455 3 G
2 271 386 271 (555 12.33 P 8,500 9,500 6,500 0855 286.00
3 396 521 396 0655 18.25 3 8,500 12,500 $.500 .0855 462.00
4 521 3,750 521 .0758 27.48 41 12,500 80,000 12,800 0758 659.00
5 3,750 4,187 3,750 .0817 272.54 51 90,000 1G0,000 90,000 0817 8,541.00
8 4,187 5,250 4,167 .0867 306.58 § | 100,000 150,000 | 100,000 0867 7,358.00
7 8,250 . ... ... ... 6,250 .0809 487.21 71150000, ... ... .. .. 150,000 0808 11,693.00
Steps for computing the amount of tax to be withheld: Example 1: Weekly payroll, $400 gross wages, single, 3 exemptions claimed ,
Step 1 If the number of exemptions claimed is ten or fewar, look up the 1. Amount from Table A on page T-60 is $165.40 for single, weekly payroll,
total exemption and deicﬁuctiun amount in Tab.‘e A oin pa%e E]Ffﬁg 3 exemptions. $400 wages - $166.40 = $233.60 net wages,
according to the payroll period and marital status ciaimed. (If there . E
are mors han 10 sxemptions, mullply (e number by tne B T L e e B e
exempticn amount in Table C on page T-60 and add it to the than Column 2 (3240} : E
deduction amount from Tabfe 8.) Subtract the total exemption and y .
deduction amount from the wages to gel net wages. _ 3. $233.60 - §163 (from Column 3. line 3) = $50.60.
For weekly payrell pericds, if the amount of net wages is $600 or 4. 850.80 » 0655 (from Cojumn 4, fine 3) = $3.31.
tess, you may use the simpiified Dollar to Doilar Withholding Tabte | 5- 3331 + $8.88 {from Column 5, fine 3) = $12.18.
beginning an page T-63 to find the amount to withhald. Otherwise, 312.19 x .15 = $1.83. Withhoid this amount.
continue with Step 2. ) - i -
Step 2 Locate the table on this page for the appropriate payroll period. Example 2: Semimonthly payroll, $5,000 gross wages, single, 1 exemption claimed
Find the line on which the net wages ialt between the amounts in 1. Amount from Table A on page T-80 is $277.05 for single, semimanthiy
Coiumns T and 2. payroll, 1 exemption. 35,000 wages — $277.05 = $4,722.95 net wages.
ep 3 Foliowing across on the lfine you found in Step 2, subtract the 2. Use Table Il - C above for single, semimonthiy payrofl, L.ook up
amount m Column 3 from the net wages. ) $4,722.95 and use line 6 on which $4,722.95 is greater than Column 1
Step 4 Following across the same line, multiply the result from Step 3 by (34,167 but less than Column 2 {36,230).
the amount in Column 4. - 3. 84,722.95 ~ $4,167 (from Column 3, line ) = $555.95.
Step 5 Following across on the same line, add the result from Step 4 to 4. $555.98 x .0BS7 {from Column 4, iine 8) = $48.20.
tiie amount in Column 5. Multiply this amount by 15% (.15). The 5. 348,20 + $306.58 from Column §, line §) = 3354.78.
resulling sum is the amoumt o withhold from wages.

8354.78 x .15 = $53.22. Withhold this amount.



T-62 (7/95) City of Yonkers  Married Method Il Exact Calculation Method

if the amount of net Table II - A Weekly Payrolt ¥ the amount of net Table 11 - D Monthly Payroll
f btracti wages (after subtracting
gggjcsti(oanf!aié ‘rac " Add the result to deguc!i(ons ::m;J ; Add the result to
exemptions) is: Subtract Multiply the  Column 5 amount. exemptions) is: Subtract Muitiply the  Column & amount.
. Column 3 resull by Multiply by 18% L Column 3 resuft by Mulliply by 158
P 1A But less amount from  Column 4 {.15}. Withhold the i TA Bul tess amount from  Columin 4 (.15). Withhold the
n i Least than net wages amount product. n |Least than nel wages amaunt product.
E | Cotumn 1 Column 2 Coiumn 3 Column 4 Column 5 € | Colymn 1 Column 2 Column 3 Cotumn 4 Column §
18 & $, 125 § 0 0455 5 C 1% 0 $ 542 $ 0 .0455 5 C
2 125 183 125 0558 5.68 2 542 792 542 0555 24.67
3 182 240 183 0855 8.88 3 792 1,042 792 .0655 38.50
4 240 1,731 240 0758 12.67 4 1,042 7,500 1,042 0758 £4.82
5 1,731 1,823 1,731 0817 125.7¢ 5 7.500 8,333 7,500 .0817 545.08
& 1,823 2,885 1,823 0867 141.50 & 8,333 12,500 8,333 .0987 §13.17
7.0 2885.... .. ...... 2,885 0808 224.87 7125060 ... 12,500 L0809 974.42
If the amount of net Table I1 - B Biweekly Payroll If the armount of net Table Il - E  Daily Payroli
wages {after subtractin wages (after subtractin
degmﬁ‘ons and 9 Add the resuit ta deé‘ucﬁf,ns and ¢ Add the resuft to
exemptions) is: Subtract Multiply the  Cofumn & amount. 2X8MPLIORS) is: Subtract Multiply the  Column 5§ amount.
L Coiumn 3 resull by Muttiply by 15% L Coiumn 3 result by _ Multiply by 15%
i A But less amount from  Column 4 {.15). Withhoid the i 1AL But less ameount rom  Column 4 {.15}, Withhold the
n | Least than net wages amount product. n | Least than net wages amount product.
® | Comn 1 Column 2 Column 3 Column 4 Ceolumn § € ' Cotumn 1 Coiumn 2 Cotumn 3 Coturmn & Cotumn &
118 2 $ 250 $ 0 .0455 $ 0 113 0 S 25 3 5] 0455 $ 3]
2 250 365 250 0555 11.38 2 25 37 25 .0555 1.14
3 385 481 365 .0655 17.77 3 37 48 37 .0655 1.78
4 481 3,482 481 .0759 25.35 4 48 3486 48 .0759 2.53
5 3,482 3,846 3,462 .0817 251.58 5 346 385 346 0817 25.16
6§ 3,846 5,769 3,846 .0867 283.00 § 385 577 385 0887 ) 28.30
7 5769 . ... ...... . 5,769 0809 448.73 7 577 577 .080% 44.897
If the amaount of net Table II - C  Semimonthiy Payroli If annual wages (after Annual Tax Rate Schedule
wages (afler subtracting subtracting deductions | Subtract Add the result to
deductions and , Add the result i and exemplions) are; | Column 8 Column 5 amount.
exemptions} is: Subtract Multiply the  Column 5 amount, amount from  Multiply the  Muliiply by 15%
' Column 3 resuit by Muitiply by 15% L taxable portion result by {.15). The result is
i 1A But fess amount from  Column 4 {.15}. Withhoid the oAt But less | of annualized Column 4 the annualized
n | Least than net wages amount product. n | Least thar | pay amount  fax.
€ | Column 1 Column 2 Column 3 Column 4 Column 5 € | Cotumn 1 Cotumn 2 i Column 3 Column 4 Coiumn 5
118 0 § 27 $ 0 .0455 3 ¢ 1% 0 $ 6500 1% 0 .0455 & ¢
2 271 396 271 0555 12.33 2 5,500 9,500 6,500 0555 296.00
3 396 521 396 0855 18.25 3 9,500 12,500 9,500 L0655 4582.00
4 521 3,750 521 0759 27.48 41 12,500 9G,000 12,500 0759 £659.00
5 3,750 4,167 3,750 0817 272.54 5| 90,000 100,000 80,000 0817 6,541.00
) 4,167 6,250 4,167 L0887 306.58 & | 100,000 150,000 1 100,000 .0887 7,358.00
7 6250 ... ... ... .. 6,250 .0809 487.21 70150000, .. ... ... 150,000 .0809 11,683.00
Steps for computing the amount of tax to be withheid: Example 1: Weekiy payroll, $400 gross wages, married, 4 exemptions claimed
Siep 1 If the number of exemptions claimed is len or fewer, ook up the 1. Amount from Table A on page T-60 iz $195.25 for married, weekly
totat exemption and deduction amount in Table A on page T-80, payroll, 4 exemptions. $400 wages - $185.25 = $204.75 net wages.
according to the payroli period and marilai status clairned. (if there 2. Use Table 11 - A above for married, weekly payroll. Look up $204.75 and
are more than 10 exemptions, multiply the number by the use line 3 on which $204.75 is greater than Column 1 ($183) but less
exemption amount in Table C on page T7-60 and add it to the than Column 2 (5240).
deduction amount from Table B.) Subtract the total exemption and 3. $204.75 - $183 (from Column 3, line 3) = $21.75.

deduction amount fram the wages 1o get net wages. 4

For weekly payroll periods, if the amount of net wages is $600 or
less, you may use the simplified Dollar to Dollar Withholding Table
beginning on page 7-63 to find the amount to withhoid. Ctherwise,
continue with Step 2.

Step 2 Locate the table on this page for the appropriate payrolt peried.

S

. $21.75 x 0655 {from Column 4, line 3) = $1.42.

5. %1.42 + $B.88 (from Column 5, line 3) = $10.30.
$10.30 x .15 = $1.55. Withhold this amount.

Exampie 2: Semimonthiy payroll, $5,000 gross wages, married, 3 exemptions claimed

Find the fine on which the net wages tall between the amounts in 1. Amount from Table A on page T-60 is $381.20 for married, semimonthly
; Columns 1 and 2. payroll, 3 exemptions. $5,000 wages - $381.20 = $4,518480 net wages,
" Step 3 Foliowing across on the line you found in Step 2, subtract the 2. Use Table I - C above for married, semimenthly payroll. Look up
i armount 51 Column 3 from mg net wages. ” $4,618.80 and use line § on which $4,618.80 is greater than Column 1
Step 4 Following across the same ling, multiply the result from Step 3 by (84,167) but sess than Column 2 (56'25_0)'
the amount in Column 4. 3. $4,618.80 ~ 34,167 (from Cofumn 3, line 8) = $451.80.

I

Slep 5 Foliewing across on the same line, add the result from Step 4 to - $451.B0 » .08E7 (from Column 4, line §) = $38.17.
the amount in Column 5. Multiply this amount by 15% (.15). The 5. 839,17 + $306.58 {from Column 5, line 6) = $345.75,
resuiting sum is the amount to withhold from wages. $345.75 x .15 = $51.86. Withhold this amount.




Te6 (795) City of Yonkers - Nonresident Earnings Tax
Method Vil Exact Calculation Method

This method is for employees residing outside Yonkers who earn wages in Yonkers paid by an employer maintaining an
office or transacting business within New York State,

This method applies the tax rate of 0.50% (.005) to the wages remaining after the allowed exclusion is subtracted. It includes
a provision for no withholding if wages are iess than an indicated amount of wages.

¥
Table IT - A Weekly Payroll Table II - D Monthily Payroll
if wages are: The I wages are: The
Line LA But fess exemption Line At But less examption
number | feast than amount is number least than amount is
Coilumn 1 Cotumn 2 Coiumn 3 Cotumn 1 Column 2 Column 3
No tax No tax
1 $0 § 77 withneld 1 § 0 § 334 | withheld
2 77 183 $ 58 2 334 833 $ 250
3 183 385 38 3 833 1,667 167
4 385 577 19 4 1,667 2,500 83
5 577 . . 0 5 2500....... .. ..., 0
Table Il - B Biweekly Payroli - Table II - E Daily Payroll
If wages are: The If wages are: The
Line At But iess exemption Line At But less exemption
number least than amount is number | least than amount is
Cetumn 1 Column 2 Coiumn 3 Coluymn 1 Calumn 2 Coijumn 3
MNo tax No tax
! § 0 $154 withheld 1 $0 3 16 withheld
2 154 385 3115 2 16 38 §12
3 385 769 77 3 38 77 8
4 769 1,154 38 4 77 115 4
| 5 1154, ... 0 5 s L 0
; Steps for computing the amount of nonresident
I- P ; .
Table I - C Semimonthly Payroll earnings tax to be withheld:
if wages are: The i R ) .
Line At But less | exemption Step 1 Find the proper tgble in the T“a?;e I series above, according
numbsr | least than amount ie to the payroll period. Find the fine on which the amount of
’ gross wages is equal to at least Colurnn 1 and less than
Column 1 Column 2 Column 3 Column 2.
No-iax
1 § 0 $ 167 withheid if the wages are found on line 1, there is no withhoiding (no
2 167 447 125 further steps are needed).
5 417 833 83 Step 2 Subtract the Columin 3 exemption amount on the line found
in Step 1 from the gross wages. :
4 833 1,250 42 Step 3 Multiply the result of Step 2 by 0.50% (.OOQ). The product is
5 1250, ... 0 the amount of tax to withhold each pay period.
Exampie 1: Example 2: Example 3: 3
Weekly payroll, $75 gross wages Weekly payrol, $200 gross wages Semimonthly payrofl, $400 gross wages
Step 1 Use Table 1I-A for weekly Step 1 Use Table 1I-A for weekiy Step 1 Use Table II-C for semimonthly
payroli. Wages of $75 are payroli. Use ling 3 ($200 is at payroll. Use line 2 ($400 is at
found on fine 1, since $75 is at ieast $193 and less than $385). least $167 and less than $417).
least 30 and less than $77. No ) . )
tax is to be withheld from Step 2 3200 - $38 (exemption) = $162 Step 2 3;402 - $125 (exemption) =
these wages. Step 3 $162 x .005 = $0.81 $27
: Withhold this amount. Step 3 $275 x .005 = $1.38
. Withhold this amount.




